U-10 U-11 U-12 | GKU-10]| GKU-11 | GKU-12 |=3R&BU-11] EREFU-12
A 68 (H)
H 1383 (A8) BE=RMATLL) HS=RERDL) BE=RMATLL) HE=RETRDL)
4 H208 (A8) HE=RERBL) HE5=REEHRL) BE=REERHBL) HE5=REEHAL)
A28 (B) | JSTEP| ¥wH | ¥imH | J-STEP
A 48 (A)
cB 1l (A) in5=K|[Ih5=1x inS=R[I5={x
A 18H (A) |Wms=&|#Hh5=K 5=
A2 B8 (A) |#w5=RK| FEE |H5=R|IHS5=R|HS5=(R|H5=1x
A 1H (A) S =&R[I5=&K IS5 =R |H5=1x 5=
A 8H (A) |w5=RK IS =&|IS5=K
6 H1sH (A) |BB5=&K|HE5=1&K IS5 =R |HS5=R|HS5=F|H5=K
A28 (A)| F&E | #&E | F&H | F&E | F&E | F&E | FwE | FEE
A28 (B) |J-STEP| ¥EH | FwH | I-STEP | ¥&H | FwH | FEH | FEE
B 6H (H) S =[5 =K 1S=&R |5 =& inS5 =1
v, A 1383 (A) | I-STEP J-STEP | J-STEP J-STEP
B 208 (BA) |BS5=R|[H5=1K S =& |5 =K in 5 =1
BzH (B)| F&E | ¥EH | F&E | FEE | FEE | FwEE | FEE | FEE
8 A 128 (XK) TV ARS8
A28 (B) J-STEP | J-STEP J-STEP [ J-STEP
B 7H (AH) iS5 =x|In5=1K S5 =&|[Iv5=1x w5=K
9B 1B (A) S5 =1xr S =K|IH5=K 5=
B 218 (B) |BS5=R|[H5=1K S =&| 5 =K in 5 =1
B22H (A)]| F&H | F&H | FwH | FwE | FEE | FmE | FEE | FiEE
B 5H (AH) iS5 =x|In5=1K IS5 =&|[Iv5=1x w5=K
B 128 (B) |&HS=& S5 =F|IH5=K 5=
A 1A (A) |hS5=R[5=K IS =R|[It5=1x w5=K
B2H (BA)| F&H | F&H | FwH | FwE | FwEE | FwE | FEE | FiHEE
A28 (B) nS=&R|In5=K 1S=&|I5=K IS5 =1
A 98 (A) |w5=K S =&|IwS5=K 5=
115 1.H (&) | JI-STEP | J-STEP J-STEP [ J-STEP J-STEP
A28 (H) | F&E | ¥&H | ¥wH | FwE | F&EH | PwE | FwHE | FiEE
A8 (B) | ¥&H | &0 | &0 | ¥&H | &0 | &0 | &0 | ¥R |
B 7H (A) S5 =&F|Iw5=K 5 =K |I5=K tn5=K
LEE (B) [Bo=R R BE=R
A28 (A) |wS=R|[H5=K S =R[I5=K 5=
B8 (B)| ¥&H | ¥&H | ¥&H | ¥&H | ¥&H | ¥&H | ¥&H | ¥R |
A 48 (AH) S5 =&F|Iw5=K 5= |Iw5=K tn5=K
(BB (B) ISR IS =R|#Iv5=1K 5=
A 188 (A) |wS=K|[H5=K IS5 =R |Iw5=K w5=&
B8 (B) | ¥&H | ¥&H | ¥&H | ¥&H | &0 | ¥&H | ¥&H | ¥R |
A 1H (A) S =&[Iw5=&K 5 =K |Iw5=K tn5=K
A 8H (A) |Iw5=K S =&|I5=K tn5=1x
2 5 15H (A) |BBS5=K|H5=&K IS =R[I5=K 5=
B2H (A)| F&E | F&H | FwH | FwE | FwE | FwEE | FHEE | FEE
B2H (A)| F&H | F&E | FwE | FwEH | FwE | FEE | FEE | T8
B 78 (AH) I S5=&K|[#Iv5=1K IS=R|[IH5= 5=
3 H 1483 (B) | J-STEP J-STEP | J-STEP J-STEP
B 218 (B) |BS5=R|[#H5=(K S =& |IS5=&K iS5 =1
B22H (A)| F&H | F&E | FwE | FwEH | FwE | FEE | FEE | FwE
20[B  Ft20[E 5t20[@ Ft20[@ 5200 5t20@  F+9[O] 5tolml
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